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I conclude that the energy saving methods implemented by the Green School
committee is helpful in reducing the amount of energy used, but not the amount of
gas used. I averaged the amounts of energy used each month in the 09-10 school
year to find the mean amount of energy used that school year. Then, [ compared
that value with the mean amount of energy used in the 11-12 school year. The
reason I did not.use the 12-13 school year values is because the values of five of the
months of the year are missing and the few pieces of data for that school year may
not accurately reflect the energy use in that year. I did not use the 10-11 school year
average either because one year is a short time period for the energy saving
methods to take effect and we want to see the long term effects, not the short term
effects. I found the means of the two school years to be different enough that I can
safely say that the energy saving methods are working. If there were no difference in
the average consumption, a difference this large would only occur 195 times out of
10,000 trials. This is a very small number, so I can say that there is a difference in
the energy consumption. I performed the same process with the gas consumption
values and found, however, that the average gas consumption did not change very
much. In 814 out of 10,000 trials, the averages would be the same. This value is
pretty high, so I can say that the energy saving methods do not work on gas
consumption.






